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(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/mM%BZ 5 -~ -|3mEBZD -~ - -| 100kN/m#%#8% % - ~ -|3mEBZD ~ -
s 1.00 | 0.00 ~ 749 95.72 | #nRS | 000 ~ 7.49| 2.01 10.156 st 1.00 | 6.00 ~ 1050 95.72 | #hLS | 5,00 ~ 1050 2.01 10.15
2 100kN/mM%#BZ 5 -~ -|3mEBZD -~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 7.04 89.39 | #hd4 | 000 ~ 000|177 8.95 st 1.00 | .00 ~ 880 89.39 | #hs\ | 5,00 ~ 880 | 1.77 8.95
3 100kN/mM%E#BZ 5 ~ -|3mEBZD ~ -| 100kN/m%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 733 93.49 | =hLst | 0.00 ~ 000 1.69 8.64 st 1.00 | 6.00 ~ 9.60 93.49 | =h4 | 5.00 ~ 9.60| 1.69 8.64
4 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 6.92 87.70 | =hLst | 000 ~ 000 1.60 8.09 st 1.00 | 5.00 ~ 9.30 87.70 | =ns | 5.00 ~ 9.30| 1.60 8.09
5 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 588 73.564 | FnLS | 000 ~ 0.00| 1.67 846 st 1.00 | 6.00 ~ 6.70 73.54 | TNLSY | .00 ~ 6.70| 1.67 8.46
P 100kN/mM%BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 6.60 83.22 | #ns | 000 ~ 0.00)| 1.74 882 st 1.00 | 6.00 ~ 7.90 83.22 | =hs | 6.00 ~ 790 1.74 882
- 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 4.76 59.31 | =S | 0.00 ~ 0.00| 1.68 8.60 st 1.00 | 6.00 ~ 5.00 59.31 | =4 | 5,00 ~ 56.00| 1.68 8.60
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM#%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ FhLst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ ZFhst ~ FhLst ~ st ~
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